NMPUNOXEHNE

(U,5 ,x)

-20 -18 -16 -14 -12 -10 8 -6 -4 -2 0 3 6 9 12 15 18 21 24 27 30
-103 -102 -9 95 -90 -83 -75 -60 —41 -20 0 19 35 50 61 70 755 79 80.5 81.4 819
-9 93 8 B8 -73 63 -50 35 20 -2 0 3 10 18 30 48 68 90 115 140 170
-100 -90 -80 -70 -60 -50 —40 -30 -20 —-10 0 10 18 20 21 22 23 28 35 53 95
-100 -95 -8 -79 -67 -52 -35 -15 -10 -5 0 4 15 80 135 160 178 189 196 199 200
data =
- -819 -81.4 -80.5 =79 -755 -70 —-61 -50 -35 —-19 0 19 35 50 61 70 755 79 805 81.4 819
-170 -140 -115 -90 -68 —-48 -30 -18 -10 -3 0 3 10 18 30 48 68 90 115 140 170
-9 -60 -35 22 20 -25 -27 -25 -20 -15 0 15 20 25 27 25 20 22 35 60 90
-103 -102 -9 95 -90 -83 -75 -60 —41 -20 0 10 19 27 34 40 45 49 52 54 55
-31 -30 -28 26 -23 -20 -16 -12 -8 -4 0 4 9 15 22 30 40 55 73 93 118
(o
_ T w @ 3
v (da[a ) = (data T) 2 = (data ) B = (dala T) ( T)<4>
14 = \data
(5 (Y 7 ® (0
5 = (data T) 6 = (da[a T) 7 = (data T) 18 = (da[a T) 9 = (da[a T)
MuTepnonsauma BAX HO
ui4 (x) = lntep (/4 ,U,x) 7 (x) = bt (/7 ,U,X)
w (x) =lnep (2 ,U,x) us (x) =lnep (15 ,U,x)
us (x) =lnep (16 ,U,x)
W (x) = e (9,U,x) 2 (x)=itep (U,2 ,x) i (x) =iep (U, ,x) 5 (x) = intep
Paragraph 1 Characteristic a: ut (x) =ltep (11 ,U,x) ut (x) =iep (U, ,x)
Characteristic b: g =0.20 Un = —U
q 20—q
um | = 0 1 2 3 4 5 6 7 8 9 10 n 2 B u 5
0 -30 27 -24 =21 -8 -5 -2 9 -6 -3 0 2 4 6 8 10
b g = - 20—q
mw | o= 0 1 2 3 4 5 6 7 8 9 10 n 2
0 -8.9 84 | 805 79| 755 70 -61 50 35 19 0 20 q
utb (x) = lnep  (Um ,itb ,x) utb  (x) =lnep (16 ,Um ,x)
utb' (X) = —iut (—x) uitb’ (x) = —uif (—x)
wb  (3) =30.5 ' (3) =30.5 ub (10) =1 ue' (10) =1
Characteristic c: ute (x) = fep (11 ,—U,x) =g
iutc (x) = lntep (Um ,11n ,x)




uitc’ (x) = —uit (x) iutc' (x) = it (—x)

uitc (10) =-1.579 uitc' (10) =-1.579 iutc (5) =-50.5 iutc' (5) =-50.5

Characteristic d:

— : 20—
Un =Us0 q 0—q
utd  (x) = intep  (/1m ,Un ,x) utd  (x) = lep  (U,=I1 ,x)
utd' (x) = ut (—x) wtd (x) = —wt (x)
utd  (10) =-1 uta (10) =-1 ud  (2) =-12.667 g (2) =-12.667
100 D
R s‘ ’ )
() R
% “‘.
utb (x) ‘0
iutc (x) 0 »
- e "‘.
L
-Md-(x) ‘\.‘
L WS
.o s .'l‘ -
. =100 _ R
100 50 0 50 100 -0 0 0
X
X
Paragraph 2 5
= u + u =
u() =t (<) +uto (<) A i(x) =it (x)+uwb (x)
=0.516
u (1) u(-1) =-0.516 i(1) =32.667 i(—=1) =-32.667
Paragraph 3 ‘ o v .
i12 (x) =t (x) + w2 (x) 12n ; =12 20—g
u2c (x) = Interp (Um 5 12n ,x) i12c (x) = utc (x) + e (x)
Conversion I(U) into U(I)
w  =-20+ ¢-2
q
w o= 0 1 2 3 4 5 6 7 8 9 10 n 2 3 %8 15
0 -20 -18 -16 -4 -12 -0 -8 -6 -4 2 0 2 4 6 8 10
n2 =2 (UU ) nee = i (UU )
el q q q
e o= © L 2 3 4 5 6 7 8 9 10
0 160.5 435 126.5 109 9l 75.667 60.333 45 20.667 14.667
uun = WU 2cn = N2

q 20—q q 20—q



ut (x) = intep (112 ,UU
ut (1) =1.364

Paragraph 4

7X)

w2 (x) = intep  (/12en ,UUn ,x) /

AAS

w (1) =—-1.364

u (N +w()=0

uit2 (x) = uit (x) + w2 (x)

=10

AT TR 20 wd (x) =itep (l2m ,Un ,x)
uted  (x) =utd (x) +ud (x)
Conversion U(l) into I(U) n=-100+ q-1C
q
a7 = 0 1 2 3 4 5 6 7 8 9 10 1 12 13
0| -0 -90 -80 70 -60 -50 40 30 20 -10 0 10 20 30
iz = utz (// q) ured = uit2d (// q)
=00, utedn = Ut o, o
it (x) =1iep (U2 0 ,x) 2 (x) =iep (Utzdn ,in ,x) L=3
i (1) =6.597 2 (1) =-6.597 P +e () =0
Paragraph 5
w2 (x) = (x)+ i (x) Wiz = w2 (U q) da(x) = hep (W U %)
w (x) = ut (x) + uit2 (X) w (/) = 1471
x =1 2 =i (><2 ) 2 =1 xv =7 w (xv ) =2.06
X1 =xv o — 2 x1 =6 ur =w (v ) —x2 ur =1.06
0 1 1.06 1312 1446 1855 ( T)<0> ( )<l>
data = Y= \data J= \data
06 7 806 9372 11218
wi (x) = itep  (u,i,x) un (x) =intep  (i,u,x) k=0.5 w o= k-0.35
R (x) =1 (x) +ie (x) Wtz = w2 (uu k) G (x) = e (2w )
A%A(X) = un (x) + uir2 (x) o (/) — 1.545
wi (1) =6 w2 (1) =7 un (7) = 1.06
w (1) =1 a2 (7) = 0.946

ut2

T'=(0 245 49 7.883

10.322 12.494)



